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(%) (%) Q)

1,901,752 100.0 % 1,866,280 100.0 % 35,472 1.9%
403,342 21.3% 402,310 21.6% 1,032 0.3%
1,498,410 78.7% 1,463,970 78.4% 34,440 2.4%
0 0.0% 0 0.0% 0 0.0%
1,901,752 100.0 % 1,866,280 100.0 % 35,472 1.9%
403,342 21.3% 402,310 21.6% 1,032 0.3%
1,498,410 78.7% 1,463,970 78.4% 34,440 2.4%
0 0.0% 0 0.0% 0 0.0%
1,901,752 100.0 % 1,866,280 100.0 % 35,472 1.9%
403,342 21.3% 402,310 21.6% 1,032 0.3%
1,498,410 78.7% 1,463,970 78.4% 34,440 2.4%
0 0.0% 0 0.0% 0 0.0%




403,342]|100.0 % 402,310] 1,032
403,342| 100.0% 402,310] 1,032
1- 44,342 43,310 1,032
1- 359,000 359,000 0




2004 2005 2006
1-
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1-
65% 85% 100%




1,901,752 1,866,280 35,472
403,342 402,310 1,032
403,342 402,310 1,032

44,342 43,310 1,032
44,342 43,310 1,032

(3310-3313-120-301-08)

= 4,470
4,470,000 - 3,438,000 = 1,032
1,498,410 1,463,970 34,440
(3310-3313-110-101-01)
= 594,160
594,160,000 - 583,176,000 = 10,984
= 90,040
90,040,000 - 88,209,000 = 1,831
= 90,040
90,040,000 - 88,209,000 = 1,831
(3310-3313-110-101-02)
= 81,576
81,576,000 - 78,972,000 = 2,604




)
. 5 1,050,000 * 1 *5 = 5,250
500,000 * 1 *9 = 4,500
(3310-3313-110-101-03)
= 48,360
48,360,000 - 46,800,000 = 1,560
(3310-3313-110-101-04)
= 46,080
46,080,000 - 44,640,000 = 1,440
(3310-3313-110-101-06)
= 112,561
112,561,000 - 110,261,000 = 2,300
(3310-3313-120-201-01)
(30,0001 *102 ) + (5,000%1 *56 ) = 3,340
3,340,000 - 3,060,000 = 280
(3310-3313-120-204-02)
= 60,840
60,840,000 - 59,580,000 = 1,260
(3310-3313-120-204-03)
= 15,000
15,000,000 - 14,400,000 = 600




